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20223 = =0 & LA S A

A ST
HHM: HRANE 2435
ool MSTE 84 N CER-ED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
M= A 0 43,304,199 30,025,061 13,279,138
= 487,000
Jl 2,177,098
= 2,943,137
Al 28,096,964
TH 9,600,000
HEedE 435 11,124,298 10,094, 100 1,030, 198
J| 1,377,098
& 1,193,137
Al 8,554,063
H=E 4 I 5,505,833 5,183,280 322,553
J| 160,000
o 157,240
Al 5,188,593
HiEsd 28 2 6,480 6,880 A 400
201 et 9| 2,880 2,880 0
01 AP 2t 2] d| 2,880 2,880 0]
OF=ZRI2ASUS SN 29 2,880
203 R F & 3,600 4,000 A400
03 Al %=X QI Q=X 3,600 4,000 A 400
OAZ MSHAN 22 L o 3,600
MEYX MAXNEK 2 68,956 67,742 1,214
301 et A =2 68,956 67,742 1,214
12 JIEtE A= 68,956 67,742 1,214
OMEX XH AKX =Xt 63,504
[ PNE=NERN] 2,084,000 x2% x12& 50,016
[ = ONE=pNE =, 50,000 12 x12& 600
[ ImE=asl| 200,000 x2H x12& 4,800
®E 2= 2,084,000 x2H 4,168
[ RESE=apll] 200,000 x2H x23| 800
@ H =AY 130,000 22 x12& 3,120
O=20AHZEEHZ
2,084,000 x2H « 1201 & x4 . 5% 2,251
oAdEEEEZ
2,084,000 x2H « 1200 & x3.43% 1,716
oO&IYBEE L2 1,716,000& x11.52% 198
olns=2Eg=ssd=2
2,084,000 x2H * 1200 & *x1.65% 826
ONHEE =2 2,084,000 x2H « 120 & *x0.92% 461
AE2SHEIIRE 29 1,759,012 1,671,150 87,862
301 et A= 1,759,012 1,671,150 87,862
V=t - 2EE2SEAM2 1,759,012 1,671,150 87,862
O30 (=3, A419H) 1,113,472




M=t 0t
Hsds g4dst
isds g4 XA 9 )
SN HH-S(BN) - MBAY - B il HlnE2
O AJREHI 100,000
OZAZ 1,500,000& *402] 60,000
O=dHES 300,000& 22X x23| 13,200
o1l =l 1,075,000& 22 »23| 47,300
oz =&t 70,0003 x22H x5 43 30,800
(OFSPARSI=N: ]| 70,0003 22 40 61,600
OR4 Xz 4| 2,000,000 x4H 8,000
O=XZAE 800,000& »22H 17,600
©JSESE=] 6,000,000& »9H 54,000
O SLESHI 1,000,000& *3H 3,000
og&EIzZ2+Y 8,870,000& x12& 106,440
OAXFIOIAMNESY 2,016,000 »9H 18,144
O32ASREE =S 1,151,472,000& *4.5% 51,817
OINAZEHRE S 1,151,472,000& *3.43% 39,496
OLQEIRABEREES
39,485,000& *11.52% 4,549
OLNE=EE=zRE3 1,151,472,000& *1.65% 19,000
OMNEEREZ 1,151,472,000& *0.92% 10,594
NE2sZIRdS g4 29 2 Hd XA 346,400 303,600 42,800
201 LBr2EH| 262,400 263,600 A 1,200
01 At 2t 2l 202,800 195,600 7,200
oOg=a 1,100,000 » 122 *30H & 39,600
O= &l 720,000& * 10 x19H 136,800
©2+AlH| 120,000 10& »x22H 26,400
02 =224l 59,600 68,000 A 8,400
O0z&E2= & HA 15,600
o= 400,000 x 123 *304 & 14,400
QOHAESR ST 100,000& =122 1,200
O A& EHl =Xl 44,000
OANOIERES F2 12,400,000& *23| 24,800
@ X2 - ety 400,000& 4CH*12& 19,200
405 XHoHF S HI 84,000 40,000 44,000
01 XL 2 ZFH S| 84,000 40,000 44,000
OAMOIZ2= ALOIZ 40,000
ogt=Ar 22 6,000
oO=8xe 2 38,000
NE2sZIR 29X 52,000 55,000 23,000
< 52,000
301 LPEAS 52,000 55,000 A 3,000
< 52,000
Vo=t - 2SRES243 52,000 55,000 A3,000
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S RS = Faig=a i,
Yy MSNE 245
g MsdsE 84 XY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 700,000
02 It M AMHEE 720,000 620,000 100,000
OEFAYU=ZEH X3 720,000
< 20,000
Al 700,000
R4 =204 X 44,480 44,480 0
< 30,240
Al 14,240
307 QI2+0| & 44,480 44,480 0
< 30,240
Al 14,240
02 2B SARE = 44,480 44,480 0
ORAE EFuY 2 20,280
= 6,040
Al 14,240
OsAad E303 17,000
< 17,000
ORAd =104 AR = 7,200
< 7,200
SN2 =221 2¢Y 90,000 90,000 0
307 gl2tol & 90,000 90,000 0
02 1P A AL B X 90,000 90,000 0
OsAH2 =221 29 90,000
YE BHEZ AIEEA 90,000 90,000 0
= 45,000
Al 45,000
307 glz2+ol & 90,000 90,000 0
S 45,000
Al 45,000
02 LIt MAHEE 90,000 90,000 0
OZE HAZ ANEZ2A 90,000
< 45,000
Al 45,000
Hd==ZHUE KX d=A 17,000 15,000 2,000
207 A RO 17,000 15,000 2,000
01 1R gyl 17,000 15,000 2,000
O&d==HNHUa KA du=24d 29 17,000
Za 243 ALY 30,000 30,000 0
< 10,000
Al 20,000
307 21201 A 30,000 30,000 0
< 10,000
Al 20,000
02 It S AHE L 30,000 30,000 0




A MAYL
Yy MSNE 245
ool MSTE 84 N CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFa 43 AIY 30,000
=} 10,000
Al 20,000
ez 29 I 2,510,515 2,290,915 219,600
= 640,000
Al 1,870,515
MF=AIEH MEHSE d24U=UE 3,600 3,600 0
307 2izto| A 3,600 3,600 0
04 DIZ2tSHALALS B = 3,600 3,600 0
OHM203 MFAIEH MENS d2U=U3 3,600
HFEAIEH MEME EF=XHNHEHUS 4,500 4,500 0
307 QI2t0| ™ 4,500 4,500 0
04 CIZ2tSHAPALS B X 4,500 4,500 0
OHM113 MFAIEH MENES =S HEHUS 4,500
HFEAIEE MEXSE SIS 7,000 7,000 0
307 212t0| & 7,000 7,000 0]
04 SIZ2SHAAISHE E & 7,000 7,000 0
OHM21a EF=AIEH MEH= SIU3 7,000
HFAISH MEXE 2=2AMHE 5,000 5,000 0
307 2iz2to| A 5,000 5,000 0
04 SIZ2ISHAAISH E & 5,000 5,000 0
OHMBal HFAIXH MEM=E LU=SAUHI 5,000
M=AIEE MENSs BCLEREEILCICHE 8,550 8,550 0
307 ciztol A 8,550 8,550 0
04 CIZ2tSHALALS B = 8,550 8,550 0
OHM153 MFAIEH MEMs 20 YR ElIH
ClCH 3l 8,550
HNF=AEH MEHS HEA HOIESUWHS 5,000 5,000 0
307 2iz2to| A 5,000 5,000 0
04 CIZ2tSHALALS B = 5,000 5,000 0
OHM273 HMFAIEH MEHSE HE4 HOES=S
CHal 5,000
MF=AIEH MEHNE =02 E3ZU 3 5,000 5,000 0
307 2iz2to| & 5,000 5,000 0
04 SIZ2SHAAISH E & 5,000 5,000 0
OHMBal HFAIEH MEM=E d=02HRE2X
CHal 5,000
HFEAEH MEMS d=2MH2240/2HS 6,300 6,300 0
307 212t0| ™ 6,300 6,300 0




AN MSAS B

dH: NS 243
oS M =29 A
= _ = s
A - ER(EN) - AR - B of & o4 e
04 QIZHHALALH B £ 6,300 6,300
ORN182 MFAIYH HEMS =i =ct0l
2 g 6,300
dF=AIEH d2Hs =sI13U3 5,000 5,000
307 @lztol & 5,000 5,000
04 QIZHSHALALH 2 £ 5,000 5,000
OH103 HFAHE dEMSE SIS UI 5,000
A=A EMSE =420 I 2= 9,000 9,000
307 glztol & 9,000 9,000
04 QIZtHAALE 2 = 9,000 9,000
OHMo2l dF=AIH HEHMS 427182013
2El3 9,000
SFAIEH d2H=s 2FHAU 7,650 7,650
307 glztol & 7,650 7,650
04 RIZEEHALALSE 2 = 7,650 7,650
OHM163 =AU MEHS 2FHAUE 7,650
A=A HEHMSE =253 AAN0EHS 9,500 9,500
307 glztol & 9,500 9,500
04 QIZtHAALH 2 = 9,500 9,500
OH182 MFAIYH HEMSE =SS AAI
Olgthal 9,500
AFAZH HEHS d=UsSdEs7U2 9,400 9,400
307 glztol & 9,400 9,400
04 QIZHHALALH B = 9,400 9,400
OHM193 HFAIZH MEHS U2 Es
U2 9,400
A=A 2SS SOEOIU2 5,000 5,000
307 @lz2tol & 5,000 5,000
04 QIZFSHARALH 2 & 5,000 5,000
ON9E HFAIZH L&M= ROEOIH 5,000
A=A EMSE UH=22U 3 5,000 5,000
307 glztol & 5,000 5,000
04 QIZHHAALE 2 = 5,000 5,000
OHMo2l dF=AZH HEMS UHISZU2 5,000
HFAEH HEMS AEA2EUS 16,000 16,000
307 212t0 & 16,000 16,000
04 QIEHAALE 2 = 16,000 16,000
OM172 HF=AIZH d2HF ARACEEH
3 16,000




AN MSAS B

M MEdE #4358
2 M 29 X
SA - ZE-B(EA) - NRAY - B S il &t o il
SFATH dEHS AAAIHUE 4,500 4,500
307 gl2tol & 4,500 4,500
04 DI2ZHHALALSE E X 4,500 4,500
OHM9sl MFAIZH MEMS AZAIHUE 4,500
HFAITH MEHE SZU3 6,000 6,000
307 glz2tol & 6,000 6,000
04 QIZFHALALH 2 = 6,000 6,000
OM158] EFAIZH MEHE == 6,000
H=AZH dEXMsE 8332 S7UE 9,500 9,500
307 21201 A 9,500 9,500
04 QIZFHALAIH B = 9,500 9,500
OXN24s] MFAIETH MEMS 82 U 9,500
HFAIZH M| 8228 S0 10,000 10,000
307 21201 A 10,000 10,000
04 QIZFHALAIR B = 10,000 10,000
OHM1958 8F=AIZH HEMT d=2=8 F7U
3 10,000
HF=AIZH MEXH=s det=S20 S4€II03l 4,500 4,500
307 21201 A 4,500 4,500
04 QIZFHALAIH B = 4,500 4,500
OXN182l MFAITH HEMS HA=SLQ =Y
It &l 4,500
H=AZH dEXHE dIFAU3 5,000 5,000
307 glz2tol & 5,000 5,000
04 QIZFHALAIH B = 5,000 5,000
OM23a8l AU MEHs dIAAUHS 5,000
HAFAIZH MEHs MHA=2Z0E 8,000 8,000
307 21201 A 8,000 8,000
04 QIZFHALAIH B = 8,000 8,000
OXN6sl MFAIZH MEMSE MIIIASZUE 8,000
dFAIEH St MEHx ZHUS 10,000 10,000
307 gl2tol & 10,000 10,000
04 DIZHHALALSE E X 10,000 10,000
OHM27sl MFAIEH Sclote MEME FAHH
3 10,000
HFAIZH MEHE o SOFHS 9,500 9,500
307 21201 A 9,500 9,500
04 QIZFHALAIH B & 9,500 9,500




2AM: Mo
=ds

PSS = 243
@2 dA=x0s 29 N (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OHM183 MFAIEEH MEXME T4 SO0IEUHS 9,500
HF=AIEH RIS 7,000 7,000 0
307 QI2t0| & 7,000 7,000 0
04 QIZISHALAIE B2 X 7,000 7,000 0
OHM53 E=AIEH 2ItU 3 7,000
HdFAIEH &= Ol=HILIAUS 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
04 DIZHHAFAL I 2 X 6,000 6,000 0
OHMI173 MFAIEH 8= O0l=HLIASE 6,000
MFAEH MENS HAATIX G 5,000 5,000 0
307 QI2t0| M 5,000 5,000 0
04 QIZHSHAFAIRE 2 X 5,000 5,000 0
ONM93l HMFANEH MENE HAAIXHF 5,000
HF=AIEH AU 5,000 0 5,000
307 212t01 & 5,000 0 5,000
04 QIZHSHAFAIE 2 X 5,000 0 5,000
ONF A& 2AUS 5,000
heSdgth NEE A2 &8 K& 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
02 DI2HEAMAIEE X 5,000 5,000 0
oHs3d MNEE d2Uia &8 X3 5,000
HF=ANEI M2 24FTsty =3 02U 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
04 QI2tSHALAIE E &= 6,000 6,000 0
OM143 dF=AIEI| =2 2=t =8 0O
203 6,000
N F=AIEH 2ACHS 4,500 4,500 0
307 QI2t0| M 4,500 4,500 0
04 QI2SHALAIE E = 4,500 4,500 0
O M 198 & Z=AIZHH &AHS 4,500
HNFAEH =557 L HL2EZ23UHE =723 17,000 17,000 0
307 QI2t0| ™ 17,000 17,000 0
04 QIZHSHAFAIRE 2 X 17,000 17,000 0
OM263 d=AIEM 572U £ M113
HAEZ2UHE 20U 17,000
HFEAED L AFAIEH EH= U3 9,000 9,000 0]
307 QI2t0| ™ 9,000 9,000 0
04 QI2tSHALAIE E &= 9,000 9,000 0
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=ds

PSS = 243
@2 dA=x0s 29 N (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OHM293 MFAIEI| L H193 HMFAEH &
HEd U3 9,000
HFAEI SIS 4,500 5,000 A 500
307 212t01 & 4,500 5,000 A 500
04 DIZFSHAIAIRI 2 = 4,500 5,000 A 500
OM93l HMF=AHI S&UF 4,500
MF=AIEH AZTEHUALSE 5,400 5,400 0
307 212t01 & 5,400 5,400 0
04 QIZFBHAIAIRI 2 = 5,400 5,400 0
OM11a MF=AZH AT EHLIAMS 5,400
HFEAIEH SEsAUS 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0]
04 DIZFSHAIAIRI 2 = 5,000 5,000 0
OM193 &=AIEH 2H=sAHS 5,000
HF=AIEH ®=20t0tBIS U &l 10,000 10,000 0
307 QI2t0| M 10,000 10,000 0
04 QIZHSHAFAIRE 2 X 10,000 10,000 0
OHM173 MF=AIEH & =20t0tBt=SCH &l 10,000
MF=AEH s2US 7,290 7,290 0
307 212t01 & 7,290 7,290 0
04 BIZHH A AL E = 7,290 7,290 0
OHM20a EF=AI&HB =703 7,290
HNFANEU MZ2ESSC L HEA ERUF 12,200 12,200 0
307 212t01 & 12,200 12,200 0
04 QIZHSHAFAIE 2 X 12,200 12,200 0
OM293 EF=AIEH F2LLESSQ2 L HEA
E S 12,200
HFEAEH RS 8,000 8,000 0
307 212t01 & 8,000 8,000 0
04 QIZHSHAFAIE 2 X 8,000 8,000 0
OHM263 EF=AIZB U3 8,000
HFAIED BHAEE=UE 5,000 5,000 0
307 QI2t01 & 5,000 5,000 0
04 QIZHSHALAIE B2 X 5,000 5,000 0
OHMI253] MF=AIEI| EHAHAZCHS 5,000
MF=AIEH & S &EH 8HUATUE 7,250 7,250 0
307 QI2t0| ™ 7,250 7,250 0
04 QI2tSHALAIE E &= 7,250 7,250 0
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OHM293 MF=AIEEH ¥ H193 3l &b HIL
A3 7,250
HFAED MEH= BHEEUS 9,500 9,500 0
307 212t01 & 9,500 9,500 0
04 DIZFSHAIAIRI 2 = 9,500 9,500 0
OHMI323 HMFAIEI MESHS BHEUAEU S 9,500
HEAEH 2SS UHE RS 10,000 10,000 0
307 212t01 & 10,000 10,000 0
04 QIZHSHAFAIE 2 X 10,000 10,000 0
OM263 ®=AI&HH SEUHE H2U3 10,000
HFEAEI S20U3 9,000 9,000 0
307 QI2t0| ™ 9,000 9,000 0]
04 QI2FSHALAIE B = 9,000 9,000 0
OM30& EZ=AIEI =2UE 9,000
HFAIEH =U 3 6,000 6,000 0
307 QI2t0| M 6,000 6,000 0
04 QIZHSHAFAIRE 2 X 6,000 6,000 0
OM188 HF=AIZHH =G 3 6,000
HFAEI &I 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 DIZHSHAFAIRHE 2 X 5,000 5,000 0
OHMb53 HF=AIED 24UH3 5,000
HZEAI(OLO1)-210 EFUHI(ZIHEEXS) 44,000 44,000 0
307 212t01 & 44,000 44,000 0
02 A2t MAIEE =X 44,000 44,000 0
O&FAl I(0t01)-21a s=7U3 44,000
NEdM02tEUNE &8 7,000 7,000 0
307 212t0| & 7,000 7,000 0
02 DI2HEMAIEE X 7,000 7,000 0
OM34s M=dNOI2HEUS &2 7,000
s EF0NE 29 7,000 7,000 0
307 212t0| & 7,000 7,000 0
02 DIZtBAAEE X 7,000 7,000 0
CERY R E X 7,000
M= UMEHs &8 229,925 229,925 0
307 212t01 & 229,925 229,925 0
02 DIZtZAAMEE X 229,925 229,925 0
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2 M 29 X
SA - ZE-B(EA) - NRAY - B S il &t o il
OHMb59s Met=lMsUls &d 229,925
d=2HE S sEXE 14,500 14,500
307 glz2+ol & 14,500 14,500
02 QIZtE M AHE X 14,500 14,500
Od=Hd & EdXA 14,500
oAM= XA 63,000 63,000
301 LA F 15,000 15,000
12JIE243 15,000 15,000
Od= FUUM=Ua =X 15,000
307 g2+l & 48,000 48,000
02 It M AHE L 48,000 48,000
OHM408 8= =0t MsUa & 7,000
OH38el 8= XNMEOMS MU =& 6,000
o&= FUeM=sls =A 35,000
HFAIZHE ZOHQ eSS 5,000 5,000
307 glz2tol & 5,000 5,000
04 QIZFHALAIH E = 5,000 5,000
OXFAZH HOHQ MU= 5,000
a8 o2 daHslz = 10,000 10,000
307 21201 A 10,000 10,000
02 QB LA EX 10,000 10,000
O&= H=2ddEd=sts &H 10,000
a2 HEdEdNsUs =4 20,000 20,000
307 21201 A 20,000 20,000
02 QItFAAHE X 20,000 20,000
Od= HddaH=sUlz & 20,000
HFAIEH SsQ Ok 3 6,000 6,000
307 gl2tol & 6,000 6,000
04 DIZHHALALSE 2 X 6,000 6,000
OHM13a M=AIEH =52 kRS 6,000
H=AZTH A 2 RRAMY ANNESUE 5,000 5,000
307 glz2tol & 5,000 5,000
04 QIZFHALAIH E = 5,000 5,000
OHM16al E=AIZH & L SRAMY ANOIE
=3 5,000
d=0E=20Us &H 2,500 2,500
307 glz2tol & 2,500 2,500
04 DIZHHALAISE E X 2,500 2,500
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Od=0E=7U3 &4 2,500
HAFAQS HLE RAS =2EEHI 223 2,700 2,700 0
307 glz2+ol & 2,700 2,700 0
04 QIZFHALAIH B = 2,700 2,700 0
O&EFAIRS A2 2 A' EEHI 2= 2,700
eSOt K& 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 LAFAAFEX 30,000 30,000 0
OclE0r=& X& 30,000
d=Tct2E=8ls &d 2,000 2,000 0
307 2201 A 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
OX=NtREZZUHE &H 2,000
M2 2H ZXo OtetEds & 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
04 QIZFHALAIH E = 4,000 4,000 0
ONZ2 =2H EHd0 DI4ENS =8 4,000
H=2E FMHBAZWS 275,000 275,000 0
< 75,000
Al 200,000
307 21201 A 275,000 275,000 0
< 75,000
Al 200,000
04 QIZFHALAIH B = 275,000 275,000 0
OEF=2EZ =NEHAEZUS 275,000
< 75,000
Al 200,000
d= oletolitet=lzl 200,000 190,000 10,000
< 100,000
Al 100,000
307 2201 A 200,000 190,000 10,000
< 100,000
Al 100,000
04 DIZHHALALSE E X 200,000 190,000 10,000
Od= FClcteltttEUS 200,000
< 100,000
Al 100,000
Ol &St ®I0t0tEtS&E =AU S 35,650 35,650 0
< 10,000
Al 25,650
307 glz2tol & 35,650 35,650 0
< 10,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET

Al 25,650

04 QIZFHALAIH E = 35,650 35,650 0
OO0lE =t d20I0tHtS =32l 35,650
< 10,000
Al 25,650

H22RIIE02tEWH S 25,000 25,000 0
< 15,000
Al 10,000

307 21201 A 25,000 25,000 0
< 15,000
Al 10,000

04 QIZFSHALAIR B & 25,000 25,000 0
OE=2RII=0I2tEWH 3 25,000
= 15,000
Al 10,000

o HSAZR2ET2AI| dISHAMO2SU 85,000 85,000 0
< 15,000
Al 70,000

307 glz2tol & 85,000 85,000 0
< 15,000
Al 70,000

04 DIZHHALALSE E X 85,000 85,000 0
OFstHs2AZRE2I| HISTHAOISMHSE 85,000
< 15,000
Al 70,000

HEES0ES MIAWSLE NS 50,000 50,000 0
< 15,000
Al 35,000

307 glz2+ol & 50,000 50,000 0
< 15,000
Al 35,000

04 QIZFHALAIH B = 50,000 50,000 0
O&d=8t=20t2 H=HtHELE S 50,000
< 15,000
Al 35,000

d=5t=20l2 dIEH S5 2 Us 78,000 78,000 0
< 13,000
Al 65,000

307 21201 A 78,000 78,000 0
< 13,000
Al 65,000

04 DIZHHALALSE E X 78,000 78,000 0
O&d=8t=20l2 =24 s3¢ 2Us 78,000
< 13,000
Al 65,000
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dFst=20E d=2F20U3 65,000 60,000 5,000
< 10,000
Al 55,000

307 gl2tol & 65,000 60,000 5,000
< 10,000
Al 55,000

04 DIZHHALALSE E X 65,000 60,000 5,000
OX=E=20ts d=2=57U3 65,000
< 10,000
Al 55,000

dFo=20l2 AZ=SH01Y S5 U3 45,000 20,000 25,000
< 15,000
Al 30,000

307 glz2+0l & 45,000 20,000 25,000
< 15,000
Al 30,000

04 QIZFHALAIH B = 45,000 20,000 25,000
OX=et=0te AX=Z22H0/YSS2UE 45,000
< 15,000
Al 30,000

HEE20I2 2SS 20,000 20,000 0
< 20,000

307 21201 A 20,000 20,000 0
< 20,000

04 DIZHHALALSE E X 20,000 20,000 0
O&=8t=20t2 H=H=USE 20,000
< 20,000

oS sote d=2=403 40,000 30,000 10,000
< 20,000
Al 20,000

307 gl2tol & 40,000 30,000 10,000
< 20,000
Al 20,000

04 DIZHHALALSE E X 40,000 30,000 10,000
on=g 0tY dz2=4Us 40,000
< 20,000
Al 20,000

H=5=20I2 MEM=E dI0ds52U 14,000 15,000 A 1,000
< 5,000
Al 9,000

307 21201 A 14,000 15,000 1,000
< 5,000
Al 9,000

04 QIZFHALAIH B = 14,000 15,000 A 1,000
Od=ct=0ts HEM=s d=0d=52U= 14,000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 5,000
Al 9,000

S & A2AFHAL =AU Z 37,000 37,000 0
== 12,000
Al 25,000

307 2Iz2t0| A 37,000 37,000 0
= 12,000
Al 25,000

04 SIZ2ISHAAIH E & 37,000 37,000 0]
OF & M2 ARAAIL =AU 37,000
& 12,000
Al 25,000

Het=2 83 &0l =223 105,000 105,000 0
& 30,000
Al 75,000

307 giztol A 105,000 105,000 0
& 30,000
Al 75,000

04 CIZ2tSHALALS B X 105,000 105,000 0
oUlist=4dEa &l M=2=2&WU3 105,000
= 30,000
Al 75,000

HEHYY BRLUZES 30,000 30,000 0
< 10,000
Al 20,000

307 212t0| & 30,000 30,000 0
=} 10,000
Al 20,000

04 SIZ2SHAFAISHE E X 30,000 30,000 0
ONFAEUE M=2HHZ2E=UI 30,000
& 10,000
Al 20,000

HsEsgH 8=249U3 125,000 120,000 5,000
= 25,000
Al 100,000

307 2iz2to| A 125,000 120,000 5,000
= 25,000
Al 100,000

04 QIZ2tSHAFAFS B X 125,000 120,000 5,000
oHsdE =293 125,000
=} 25,000
Al 100,000

H2X MM S 90,000 90,000 0
= 60,000
Al 30,000

307 QI2t0| ™ 90,000 90,000 0
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< 60,000
Al 30,000

04 QIZFHALAIH E = 90,000 90,000 0
OHEZ XM ZoH X = CH 3l 90,000
< 60,000
Al 30,000

HRATX2Y IS 100,000 100,000 0
< 50,000
Al 50,000

307 21201 A 100,000 100,000 0
< 50,000
Al 50,000

04 QIZFHALAIR B = 100,000 100,000 0
OdIAZ=Z2Y wWEU3l 100,000
< 50,000
Al 50,000

SN ESE= (G -—g¥ -] 89,100 0 89,100
< 45,000
Al 44,100

307 gl & 89,100 0 89,100
< 45,000
Al 44,100

04 DIZHHALALSE E X 89,100 0 89,100
O=HM=8u=2U3 89,100
< 45,000
Al 44,100

dSEUEOFRUSE 50,000 0 50,000
< 10,000
Al 40,000

307 21201 A 50,000 0 50,000
< 10,000
Al 40,000

04 QIZFHALAIH B = 50,000 0 50,000
ON=ZSEUEOZ2US 50,000
= 10,000
Al 40,000

dEdE =2g0| 8302 52,000 0 52,000
< 15,000
Al 37,000

307 21201 A 52,000 0 52,000
= 15,000
Al 37,000

04 DIZFHALALSE E X 52,000 0 52,000
odud= =€I| d32U3 52,000
< 15,000
Al 37,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

HSEI MICMUHEEHZE SO 3 50,000 0 50,000
< 50,000

307 gl2tol & 50,000 0 50,000
< 50,000

04 DIZHHALALSE E X 50,000 0 50,000
oUsgl d=HUSHAZUE 50,000
< 50,000

FoHSAZ RN MBS 32503 50,000 0 50,000
< 20,000
Al 30,000

307 glz2+ol & 50,000 0 50,000
= 20,000
Al 30,000

04 QIZFHALAIH E = 50,000 0 50,000
OS2FNSAL I MEHE 325U 50,000
< 20,000
Al 30,000

MEXHS 245 XA 3,107,950 2,619,905 488,045
J| 1,217,098
< 395,897
Al 1,494,955

2ot MEM=SX X X 338,523 337,120 1,403
J| 133,386
Al 205,137

307 QI2+0I & 338,523 337,120 1,403
J| 133,386
Al 205,137

02 QIAFAANFEX 338,523 337,120 1,403
OXNEX 8¢ & HERES 266,772
J| 133,386
Al 133,386
OXNEX =< 71,751

soE MBS BEX 37,042 0 37,042
J| 14,821
Al 22,221

307 21201 A 37,042 0 37,042
J| 14,821
Al 22,221

02 YAFHAANGFEX 37,042 0 37,042
OXN=Xt 80 X HERES 29,642
Jl| 14,821
Al 14,821
OXNEX =< 7,400

Hz24a MEHSXEZI BEX 338,523 303,528 34,995
J| 133,386
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Al 205,137
307 2iz2to| A 338,523 303,528 34,995
J| 133,386
Al 205,137
02 QIZFA AAIE E X 338,523 303,528 34,995
OXNEX 2 & HELEHZ2 266,772
J| 133,386
Al 133,386
OXNZ X =& 71,751
stolue} g2 Maists )d 29 50,000 45,000 5,000
o= 20,000
Al 30,000
307 2Iz2t0l & 50,000 45,000 5,000
= 20,000
Al 30,000
02 DIZHAAAIE E X 50,000 45,000 5,000
oeoZe g MEHsZz ) 29 50,000
= 20,000
Al 30,000
METH WA 29 142,678 142,678 0
= 42,803
Al 99,875
307 gizto| A 142,678 142,678 0
= 42,803
Al 99,875
02 Q2B AMAIE E =X 142,678 142,678 0
oMet=nas 29 142,678
= 42,803
Al 99,875
HEA EOHO MEH S WA 18,000 18,000 0
307 2I2t0| & 18,000 18,000 0
02 I P A A B X 18,000 18,000 0
O&F=Al HOHQ MESH=xWA 18,000
ZO0Hel MEx =X X B X 299,260 268,736 30,524
J| 118,565
Al 180,695
307 2Iz2t0| A 299,260 268,736 30,524
Jl 118,565
Al 180,695
02 QIZHE AAIRE E X 299,260 268,736 30,524
OXNEX 20 L HELRHZ 237,130
J| 118,565
Al 118,565
ONZX =& 62,130
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 3,000 0 3,000
O0dl0IEZE2CI0] HEguwa 3,000
A 2AL02d A 1,037,851 741,120 296,731
J| 726,495
& 155,678
Al 155,678
301 dEtE M= 1,037,851 741,120 296,731
J| 726,495
= 155,678
Al 155,678
01 Al B & X 26 2 1,037,851 741,120 296,731
oOAEZ=2X0I2H XN 1,037,851
J| 726,495
& 155,678
Al 155,678
SO AETXAROISHE X 80,750 6,400 74,350
Jl 56,525
= 12,113
Al 12,112
301 et N3 80,750 6,400 74,350
J| 56,525
= 12,113
Al 12,112
01 Al E & A %62 80,750 6,400 74,350
OHMNAUAAEZ=ZAXOESH A 80,750
J| 56,525
& 12,113
Al 12,112
dEAIXZEE 292 80,000 80,000 0
= 25,000
Al 55,000
307 giztol & 80,000 80,000 0
= 25,000
Al 55,000
02 It AAIE E X 80,000 80,000 0
ON=EAZXZY 29X 80,000
o= 25,000
Al 55,000
HFHAIEAZIZZEYE 29X H 60,000 70,000 A 10,000
= 15,000
Al 45,000
307 QI2t0| ™ 60,000 70,000 A 10,000
= 15,000
Al 45,000
02 QI2tAMAIE E X 60,000 70,000 A 10,000
ONFTHEAZIXZ2H 29X 60,000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 15,000
Al 45,000
HFEALXZSYH S (Z2IHEEXLH) 45,000 30,000 15,000
307 2Iz2t0| A 45,000 30,000 15,000
02 DI AAIRE E X 45,000 30,000 15,000
OFFALXIYH S 45,000
StM=0tHE 78,080 78,080 0
J| 33,920
& 10,880
Al 33,280
301 et A= 78,080 78,080 0
J| 33,920
&< 10,880
Al 33,280
01 Al E & A 462 78,080 78,080 0
OsStMSOIME 78,080
J| 33,920
= 10,880
Al 33,280
s 2435 32,126,075 19,869, 185 12,256,890
Fag 487,000
J| 800,000
=} 1,750,000
Al 19,489,075
TH 9,600,000
HEIEANLE A 32,126,075 19,869, 185 12,256,890
Fag 487,000
J| 800,000
& 1,750,000
Al 19,489,075
TH 9,600,000
masZaE X2 45,000 45,000 0
201 et 9| 5,000 5,000 0
02 2224 4| 5,000 5,000 0]
omIa=2T-H KX &2 5,000
401 AlEHIZ 201 Y| 40,000 40,000 0
01 Al&H| 40,000 40,000 0
omIaz=2zZx A& 40,000
M= A2 HY 9,600,000 5,000,000 4,600,000
TH 9,600,000
401 AlEHIZL 2 0HY| 9,600,000 5,000,000 4,600,000
TH 9,600,000
01 Al&H| 8,123,000 5,000,000 3,123,000
O&d= AUz HE 8,123,000
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Al 8,123,000
02 Zteltl 1,473,000 0 1,473,000
OFF MdUMs2 A 1,473,000
T 1,473,000
03 Al =2 THHI 4,000 0 4,000
O&= AUNMs2 AE 4,000
H 4,000
dF= A EEI|E AE 2,250,000 2,500,000 A 250,000
J| 500,000
< 1,750,000
401 Al HI K 201 I 2,250,000 2,500,000 250,000
J| 500,000
< 1,750,000
01 A& HI 2,250,000 2,500,000 A 250,000
Ox= ZEMEZIE AE 2,250,000
J| 500,000
< 1,750,000
N dedxy IS 28 500,000 0 500,000
401 Al HIZ 2018 500,000 0 500,000
01 A& HI 500,000 0 500,000
ONSH MBUHY VHSUE 2AY 500,000
nas=td =4 108,000 192,000 284,000
401 AIEHI L 201 108,000 192,000 284,000
01 A& HI 108,000 192,000 A84,000
om3az=2=x x4 108,000
LHI==2& =4 440,000 210,000 230,000
401 AIEHI L 2CHEI 440,000 210,000 230,000
01 A& Bl 440,000 210,000 230,000
oudlZ2=Z® x4 440,000
HEAE |X2c 196,000 196,000 0
201 24| 196,000 196,000 0
02 =224l 196,000 196,000 0
OMSAE FX2e 181,000
OHUN=2 HE= 15,000
MEAL2SH AME22SH dE= 9,822,075 9,290, 185 531,890
309 ME=2 9,354,875 8,648, 185 706,690
01 SAt- SHINTES 9,354,875 8,648, 185 706,690
OMsAL2H 2L 9,354,875
404 SASHIEEES 467,200 642,000 A 174,800
01 SAt- SHUAE2EES 467,200 642,000 A 174,800
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OMSAE2HA AIEXE 467,200
HEAL 2l2dd 100,000 100,000 0
401 AlEHIZL £ 0HY| 100,000 100,000 0
01 Al&H| 100,000 100,000 0
ONMEAE 228 100,000
ECYHAINE ANSEHA &T& ZA 284,000 16,000 268,000
401 Al HI L 2 0HHI 284,000 16,000 268,000
01 Al& H| 284,000 16,000 268,000
OEEHHIE NSEHA & ZA 284,000
ECEEIEIE AL B 996,000 500,000 496,000
401 A& HI L 204 HI 996,000 500,000 496,000
01 Al&H| 881,000 500,000 381,000
OECHZIE Ald B 881,000
02 2eldl 112,000 0 112,000
OECHZIE Ald B 112,000
03 Al 201 Y| 3,000 0 3,000
O CEHHIHE AL B 3,000
StA A A AIE A 825,000 0 825,000
Fag 367,000
Al 458,000
401 AlEHI 2 2 0HY| 825,000 0 825,000
g 367,000
Al 458,000
01 Al&H| 825,000 0 825,000
OStALE=AHE AIEIHH 825,000
g 367,000
Al 458,000
e dsdsa 2 800,000 0 800,000
401 Al HI L £ 0HHI 800,000 0 800,000
01 Al& B 800,000 0 800,000
OHAEZ dEHH HEY 800,000
IS 5 A WA 3,500,000 0 3,500,000
401 Al HI L 204 HI 3,500,000 0 3,500,000
01 Al&H| 3,500,000 0 3,500,000
OEEHIINE L& 2&A4 A 3,500,000
SZ2MSAIE FUotMEAH 110,000 0 110,000
401 AlEHIZ 2 0HY| 110,000 0 110,000
01 Al&H| 110,000 0 110,000
OZ2Z2M=SAE LM EA 110,000
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Q=3 NSE 88 WA 200,000 0 200,000
401 Al HI K 201 I 200,000 0 200,000
01 A& Bl 200,000 0 200,000
OHZ+=gE NSE 8¢ WA 200,000
S HEY SHIME SA 1,000,000 0 1,000,000
J| 300,000
Al 700,000
401 A& HIZ 201 I 1,000,000 0 1,000,000
J| 300,000
Al 700,000
01 A& HI 1,000,000 0 1,000,000
O2it=FE SHHMH SA 1,000,000
J| 300,000
Al 700,000
St HE2 A MEEX ESS &X 400,000 0 400,000
s 120,000
Al 280,000
401 AIEHI L 2 CHYI 400,000 0 400,000
s 120,000
Al 280,000
01 A& HI 400,000 0 400,000
Ozttt MUK MEEX ESS & X 400,000
s 120,000
Al 280,000
Al QeI E E HE s ZA 500,000 0 500,000
401 Al HI K 201 I 500,000 0 500,000
01 A& HI 500,000 0 500,000
O&2 oletelFINE Ed HE A 500,000
oletol AleAIE HES=ZA 50,000 0 50,000
401 A& HIZ 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000
OQletel AAAINE HEFZ A 50,000
EEZZINE otdo ZH NEES 400,000 0 400,000
401 AIEHI L 2 CHYI 400,000 0 400,000
01 A& HI 400,000 0 400,000
OEEZEIE Qg 2& AIdE=s 400,000
HE2IZH (M) 53,826 61,776 AT,950
Jl2 2zl (Msaed ) 53,826 61,776 AT7,950
Jl2Z38l (M= 1) 53,826 61,776 AT7,950
201 Let2d] 31,656 31,656 0
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H3r
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26,656

5,000

26,520
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3,600
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